Organic Chemistry c3444y
2nd Hour Exam

Ilonday, Feb. 26, 2001
Frof Leighton

Answer Key



Iame:

1. Provide detailed mechanisms for the following transformati ons:
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Mame:

2. Predict the major product of the following reactions:
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Iame:

3. a (10 pts) Eank the three ketones shown below in order of increasing C=0 stretching frequency
in the IE. spectra, o o o

e TIe e
CHs CF, OCH,
C A |B|

fowest frequency Infermediate frequency highest frequency

b (10 pts) Propose a synthesis to convert the given starting material into the product acetal.
(As weve discussed, it will prove helpful o wark baclwards from the product ane step. )
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Mame:

4. Prowvide the reagents necessary to accomplish the following transf ormations:
(M ore than one step will be required.)
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Mame:

5. a (10 ptz) Predict the product of the following reaction, and rati onalize your answer with clear
drawings demonstrating why vou chose that product.
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b. (10 pts) In contrast to phosphorous-based ylids, sulfur-based vlids typically react with ketones to
oive unusual products. For example, the illustrated vlid reacts with cyclohexenone to give the
illustrated cyclopropane. Provide amechanism for this reaction. (Bvex though yvou haven't seen this
reaction befors, vou know enough to be able fo do this. To stari, just try to decide whai is a logical

first step.) Cl Cl
HaCo_+ CH,
s S—
licd
VI8 Ch,

HaCo+ .CH, +571
7 A7
I HaC 3
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This Is just a different version of & conjugate addition followed by an allylation of the enolaie that
Is formed. Inthis case the allkylation is inframolecuiar 50 & fing is formed
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